Friendship Jr. High School
Accelerated Math Program

Algebra

In today’s busy
world, relaxation is
practically a lost

UNIT #1
Foundation Skills

UNIT #2
Solving Equations

| - UNIT #3
Solving Inequalities




Foundation Skills
Lesson 1 " 1

PROPERTIES OF REAL NUMBERS

Commytatve Property of Addition G.+b = bra
Commutative Property of MuMiplication ob = ba

Associahive Propecty ot Addition o+ (brc) = (asbl+c
Arssociotue Property of Mo Wiplication a (oc) = (ah)c
Additive Tdentity a+0 =a

Mo Fiphicative - Tdentity @) = a

Additive Taverse (o) + (o) =0

Mo Hp hcetive Taverse ) (Vo) =i

Closure 3.5+ 2.7 = a rafomwl r.
Zero Property @)(0) =0

Digkaiburve Pro perty a(btc)= ab+ac

PROPERTIES OF EQUALITY

Reflexive Propecty & Equaliiy a=a
Substitoton Property of Equality o = 3
Symmedaic Property of Equality TF a=b, then b=a
Transihive ?mperfj of Equality IF azh and b=C,

t+hen a=C

....\._




Lesson 1 .2

ALGEBRAIC EXPRESSIONS
& PROBLEM SOLVING

Write an a ée,bm\c
expression +or cadch

1® A number decreased by
+hree |

n-3

2@ Four move than fve
Pmes .a number

5n+ 4

3@ The product of two less
than 6 Number and
Five move than fwice
+he number

h3Gn +5)

Defjne a varahble estab”
lish & kKey, and solve:

H® Three hmes a number
decreased by Seven is
"‘UJQVﬁ‘:j"SlX. Fnd the
numbev,

N = the numbee

3n-7= 26
3n =33
=1

5@The sum of John’ age and
Glewn’s age is twenty -two,
Five yearS From now, John
will B2 three +imes as old
as Glenwn. How old witl CE)IM
be Hwo years from now T

Now In 5
dohwn  22-n 27-n
G lenn n n+ %S

27-n = 3 (n+5)

QLT-n = 3In+15
1 = Bwn
n=23

Tohn now (22.-n) -Iq
T fwo Yyears: aA+2= 2

2| vwears old

6® Dean 1S Seven years older

than Jercy. Five Years
ogo, Jercg was halr Dean’s
age, How old was Jerry
lost Year ?
Now 5 ago
Nn+a

Nn-95

N+"7

Dean
Texr‘ﬂ N

N+ = 2(n-5)
N+ = 2Zn=10

12 =21

Texry Now (N)=12
loast year: 12-1 21|
{11 vears old




Lesson 1 .3

EVALUATING & SIMPLIFYING
ALGEBRAIC EXPRESSIONS

Evaluate @ach expression:
a=-1, b=-3, c=2

1® 3ab -c*

2C-DE3) —(2)*
(@)-(1) =

20 3(2a-b)-ac

3(2() —2)) ~ED(2)
3 (2)+3) — (-2)

2N+ R)=15
20 -20°b
o*c
2ENAR)  m261)(=)
DY T 0)X(R)
e
= =3

SimphRy each expression
H® Dx -3y -2x+ 9y
2% + 64

5@ 3(xt+2y9)-4(@x-y)

2x + by - 8x +'—!‘g
[-Sx ¥ 104

c® Hoz- 206 (arb)-3ab

Hox - 2a*- a0 -3ab
202 ~ Solb

78 ax(3x-9) -3¢ (%+29)

Gy~ 2%y - 3xy - by*
;'6x2—5x;? —6;_2;‘

20 HaZ-234(2a-b) + a(a-3b)

Ho2-po2+2ab +aar-Gab
~3ab




1 |1 Problems

IDENTIFYING PROPERTIES

Tdentify the propecty:

O ITF a=7 and 7:e)-H/)en
a=e -

@ 15a*+0 =15a2%

@ albke) = Gb)c

@ AXFY = Yrax

B (x+y)?* = (x+)*
.

@ | = 23)_ . 252.

@ 2o (a+ 2b)=332+6ab
® If X=yY then y=X
@ 2a2b 0 =0

® 2.63 + 4% = o rational o
M Hax*y = 7* x>y

@ xy=9x

® (Hab) + (~4ab) = O
D n+mep) = Garm) + P
® Bxy* = (1) (Bxy?)
@ ab + (c+d)= ab + (d+e)

D TP 2n? =ab and ab 2,
'Hnen An*+*=C

H(xy?) = (Hx)y?
@ 2 (o-b) = 3(26-b)
€ a*-3ab = a (a-3b)
@) O = (0)(-3xy)

@) IF a+b = +hen
(o) =\ = 3¢~

e 0= (-5a%*) + 5a*

EVERYTHING “wOU
DO ANNOWS ME

@ (20-5)(1) = 2a-b

@B %+ (y+z) = (Yr2)+x
G (3n)(n-1)= M-1)(2n)
@ ab + (bcrd) = (ab+bc)+d
3)2) = an mteger

@ TF 2nm*=3x%, +hew
AX = 2nm*

@ Bxy)(3g) =
GD Ha + 12 = 1a*+Ha
@_‘:Mm = O+ Y9nm

(conHinved) iy




) 24 )y —b = 24xy- (8 -2) Detine a variable, establish

a key Cas needed), and solve:
G) Babc = Babce
@ A numbev decreased b3 19

@ TL Y=y and 5:;43) s 83, Find +he numbev.
+hen Hx =nd ,
- @) 67 decreased by twice a
rumber is 39. Fnd the
Nnumbev,
D Pow ol is Tyvrone i twice
1 2 his age increased by 17is 537
_ Problems ® Twont
wenty - Seven Jyears ago
ALGEBRAIC EXPRESSIONS b BRI v N
- & PROBLEM SOLVING she npow 7
Write an algebraic ex- @ Bill is five inches taller
pression for each - than Bob and the Suom
ot +thewe heights is 127
® A nomber decreased by nches. How Fall is Bob 7
nine .
Twice Mary Lou's heght
@ Twice a numver W/l mcreased By 17 inches s

M mches T Howtall s she ?

1) Bobs dad is +wenty-seven
years older +han™ Bob. The
Som of +hewr ages Fve,

ears ago was oty -Tve.

wmereased by
Four teen

@ Two less Than Y
F(.‘)W‘ +imes o

pumber
ow old s Beb now 7
@ Tve procuct of a nomber

Increased btj F{ve ond @ The Sum o‘F The aoses o‘F
theee less +han four Mys, Black and her daughter
+mes Fhe numbev RS -P'r(:f‘:j -six, Eight years

- From vTow, Mes, Bladk will

-, be twice hee daugh‘!‘eris agRr.

How old is hev c\ausbd‘ew fow”

B The sum of Bill4 age_ond
Ronj's age s ‘P}’F)Lg. Fve
_ONS A0, A was G’xac'f‘lj
Fhree Bmes Ro‘d'ﬁ aae. . How

-.._5_




old will Bill be ped year?

@ Alice is twenty-fwo years
older than Gert Th:feae
years ago Gecrt was ex-

acty haif Alice’s age. How

old © Geet this year ©

® Sheila is the same age
now ~+hat her s{s.+er8

was two years g{_go. Next

eoc, The Som +heir
23(23) w)ll be foety-two.
How old s Shellas sister
this Year ke

1 13 Problems

EVALUATING & SIMPLIFYING
ALGEBRAIC EXPRESSIONS
Evaluade each expression
a=-2, b=2, c= -l

O 2a-2b

@ b-3c

©) 20 —C*

@ Hac +b°

@ 20 (b-¢) (@2 +2bc’

® 2b(2c-20) @ 2a(a-c)
@ Ha*b -20c b*(2c+3a)

© 2ab

Za*C

@ -3bc
ac?

® a%c -2abe
™ —2ab-2c4

Sfmpﬁ'ﬁj cach expression :
@ 3n-m + 4n + bm
26 - 3b ~Ba + b

@@ 2 x+y) —3x

@ H4n- a(m-2n)

@ 2% - 2%y + A x(x-9)
@ 2a Cot+b) ~2ah -a*
@ 4 (za-1)-3(2-a)
@ -2 (b-2)+ 4 (3-2b)
@ o -3b(a-ND+h

@D ax -Bx (y-2)+3xy

Review

Write an alge braic ex-
pression fov each:

@Three less than twice «
Numbey

@The product of a number
-~




increased by one and
+wice The “numbecr de-
ccepnsed Py Seven

Define a variable,estab”
hsh a key Cas needed),
and sSolve *

@ Sve 1s eght dYears odev
Than Mary. Tn four years,
Mavry will be half Svek
age. tow od was Mary
losy dear 7

The som of Parts age and
JmS oage is Thirty, Nine
Yyears ago, Bart was Fwice
as od o8 Jim, tow old
ie RBort now T

GARFIELDR. 1 JUST
FEP <0OU A HALF
HOUR AGO PO +OU
KNOW HOW
LONG THAT
149 IN CAT
MINUTES?

Tdentrfy +he propecty :

2 3ab _
30b ~ =2 =

TE 2xy=n,+hen n= 2y
G 24 = (2)0)

G2 4ab-c = Yab-C
4 lam) = (Hn)m)

@D G+ 20b>=2ab>+6

Unit 1

REVEW &
PROBLEMS <
T dentify +he propecty:

B Ha -3 = Ha-3

@ D) = a whole numbev

B Hxy -1 = Hxy

@ If 2x = 2y and 24 = &,
then 2x=Z

@ !

'Zaz
® Qabc = (5+4) abe

@ 2o+ (x+29)= (x+2y) +20.
@ 12n = O+ 2n

@ da (orb) = da2+ oo

« 2% = |

© b)) = Bx)(b)

@ 2n (mp) = 2nm ()

@ IF 4xy =92 +hen y=4xy
D -5n* +5n* =

M Ta +2b = 2b+7a

@ o0=2n-0

©® 5+ Qx+3)= (5+ax)+3

@ IF 2n=m? +hen
An-2mp = m*-2mpP

-7]-




Write av algebmic
ex press jon:

® Theee less +han Gve Hmes

a nuwm bev

TwWice a number increased
by sSeven

The product of a number

decreased by nine and
+hree Hmes the numbev

@) The sum of Twice a
numbexr and two less

+han four Himes the
Nuwm ber

Define a variable, estab
hsh a key (as needecl),
and SoWwe *

@) Twice a numbev decreased
‘o, Fnd

bu twelve 1S
+%e Nnum hev

@) Three movre

'H_’]OLV] “EDUV"
+imes a
Nuwm bex

s fwenty
SENe,
Find

t+he

num bev,

eavs
Six
Years ago, Symony was
+hree +imes Acts age.
How old will Simon ba
in Jwo Yyears ?

& S’mov is foor
older +han Ar<E,

@5) Bety IS Six uears Younaer
‘i“hjt—:\-ﬂjﬁan, ngur egns 2\;0,
Betty was halF Jeans
oge How maw HEOS
£com how will Jéan be
twenty -one Years old 7

€ Tennifer and Liz ace
systers. The Sum of +heie
ages is fourteen, Two
years from now , Jennifer
will be twice as od as
Liz. How man vears
older 1s Jenniter ?

@) The som of +he ages of
Evan and Keoista Tis
+twenty -four, Six Years
ago, Evan was three
Hmes as old. thw old
wos Kesta last 3ear?

Evalyote each expression :
x==l, y=-2, 2=3

Bxy - z2%+

:sz*:j-ﬂz

@ 3(x-2y)-y*

@) Ny -2 (2x+9)

@ .Zx\ﬂ- x32

@ -2x G5 xy=
2x% R 2.x5
contnved




Simplify . each Write an alge beaic expression:

ex pression !
® The procluct of huo less +han
€ a + 2¢ -3a -2c Fwice a numbevr and +hree

@ L}X‘*j 5% ‘33 | “Moye fham +f)€ Nnum bee
@ 2(3n-m) ~2n +m
G9 Ha-3Qa-1)+x
@) 2% (x- 2y) =3(x>+1) Define a variable, establish

a key (as neecled), and solve:
@) 2ab - 3(a-3ab) +2a

© Twelve less than four hmes
@ Ox —2x (><+3) —3x* ' a numbevr 1S Slx'i‘een F‘md

: +h be
@ 4n (m-n) -3m (n-1) & numoer
@ The sum of Bens age and
@ 7% =3(x=29) +5xy Bils age is twenty—fove,

Six dears ago, B was twice

as old a: Rent. How oid will
Ren be on his next bm—i—hdaﬂ

Evaluate each Rx PYEISIoN ¢
X==3, Y4=-1, 2=2

(2%~
Unit 1 ® 2(2x-9)

SKILL CHECK =~ @ 2xy*-3x3*

Tdentdy the propecty: 2‘:1"3(*‘1\"2)

@ (dxyn) ()= By Simplify eoch expression
2% > _ 2:5’1- : _ i N
3ak | 2ab @ 4Hoab -3a (b-20) -B5a

- 5(><2'-)(3) ~ax(x-Hy) —Ax Y
® a(3a-b) ~ab -2 (a*-b)
continved

@ 2Pabe = gabe
@ TF o>b=c¢,then c=atb
-q-




0
@
©
®

©

Solve:
Three yeavs From vow,
je\np;j will . be hwice

Crougs age. Two years
ago , Jenny was seven
Times as dld as Crang.
What is the som of >
their ages right Now:

Unit 1

REMEDIATION

Tdentity the property:
Hx+3y = 3y +4X

a (db) = (aa)b

22 (Vau*) = |

2x*Yy = 3x"y

write an aloebraic
expression:

The Sum of three more
+than a wumber avnc

€ve Jess than four
Hmes O numbey

TICK

Define a variable , establish
a key (as needed), and Solve:

@ Thyee move +Hran '}'U\‘J'!CG .
number s twenru - Five,
Find the numbse

@ Ann is twice Murcay’s age.
Eight years age, Ann was
Four Bimes Murravs age.
Hhw old was Muereay fwo
yeas age 7

OTM Pavis A5

ANt

LETS NOT BE FORGETTING WHO'S THE
CENTER OF THE UNIVERSE HERE PAL

Evalugde each express‘nm:
cﬁ.-‘-’-lj b=-2 )c:-j

® 2 (3b-C)
@ 2ab*-2b°
ac -2 (be-a)




Simplify each expression * Sove
D 2xy-3'2H-)+2-X2 @Fowaeam 390, Tom was four
O

‘+Himes as as Jecry. Two
@ 2a (a -UL\D)"%CLZ (Z‘b)‘ *b ears Crom NoW, Tom wiil
| e fwice J‘er@s age. tow

@ Hx (x-2y)~xy=-3 &>+xy) old was Topm last gear ?

GARFIELD, FOR ONCE
I'D LIKE A GOOD
NIGHT'S SLEEP

..AND THE FLARES

wOU ARE NO
FUN, wOU
KNOW THAT?

og-9 SLAYA WA
wale e

OH, ALL )
RIGHT

-

\:‘—_h—t\ 1
e
.Q

s

{
. =Foc
I

Un|t1 -

'EXTRA PRACTI E

"Id@n%i%mpmmr@' - 5><2+o =3x~*

O IF n*=2x then 3x=n> Weite an algebmc
@ 3n .5 - | . expression for: o
5 on | @ Twelve less Hham
® Ffaz=b and b= c+hen c=q - Tthree fimes a number

| @ Tre. producr'roF foor
@ngg)fo o less than twice a

Number and ve move

mm +3p = 5b+4a © than the nomber




Define o v*amable
estalolish a. Key Cas needed)
ond solve :

@ Foor less than twice a
nombex is Sixteen. Find
the hom ber.

@) Dennis foor vears
Than mafgcwel‘/}-l- S S

W Ueals
ago, Mcxrgou\:!‘ wos three
Hmés as ol as Dennis. HJW
ald was Margaret last year?

-@'_he sum of Dobies age

- and MQ mm\s age ns
thirty - ﬁ\/@ ‘
from m)w) )ob)e oot be

Hwice Madnard’s goe. How
old is mad%na-rd n‘é% 2.

. EVCL\ vode eoch er(eSSion:
Xz-| yz-a 2=-3

@ 2x+Y
B3y2-22

@ 3 (x+2)-2y
@Zxﬂ 2 - %3

Simplfy each expression
@5% ~ 2\ + X - 43

D 3a -2(4a+3) -5

24>y (x-2y) +bxy

Solve

@ Three yeass ago, mike
was Fhree fimes TonySs
age. . Theee lj‘ea(s Rrom
now, Mike w be +twice
0s o\ as Tony. How
old’s Mke now ¢

Simphfy *
@0 Yo Bab +2ab-3a) -B(a +2ab)

| GARFIELD, LET'S THINK NICE
— THOLGHTS TOPAL

) i
RS
- 9’}

Vi

TMUme 4e

.
BARBECUING
A SMALL
WOOPLAND
CREATURE

I'M FLOATING
,ON A CLOUP




Solving Equations

Lesson 2-1 . Felba-12b . |-4a+3b
MULTIPLY & DIVIDE TO I =
SIMPLIFY EXPRESSIONS ce s
2 k=154 12X ~154
Use +he distributive H - 4
property To Simpehfy:
|® < (qa- llb)—%;(SbH:za,)
o -8b-bb-9a ~ Lesson 2.2 |
3o~ 15 SOLVING EQUATIONS &
WORKING WITH VARIABLES
20 L (5x-10y) -3 (x+64) Solve each equation :
-f—:x—Sg)—'é‘x-lg | | ® 2\@5—3 N

12 x~5y-£x-2y

%x-?g‘ -3n =183

Simplify cach expression:

30 12 % 8y - [xay] 28 Y4(x-3) = 2x~2(5-x)-2
By =12 = 2x=10+2x -2
H® -14n+20m _ {Z/n+lOm Hx —12 = Hx =1
=1 = -l
Tdenhty

All Solutions

-2~




20 2-3(a-1) = a-20a+)) 7@ Solwve fovr a

E-3a+3=A-Ha - b~ =2 3a-2b
N-3a = -3a -2 ab-2q = ¢-2b
I} = -4  False Equation o6 (b-2)= c-2h
No Solotions a= £-2b
b-3

7 2. | b-3
3In-2 _ HYn ' Xx

7 - 2.
2 (3n-2) = 7 (Wn+id)
en-H = 28n+8% Lesson 2.3
22n = B¥ INTEGER PROBLEMS

=%

For each problem, define
a voriable and wse an
equation to solve:

5@ Solve for x:
2ox —be =4d

2ax = d+ be

1® Twice a humber decreased
by six s forry -Toue. Find
+he number: |

n = +he numbeyr

x=9¥be feazo

30,
2n -6 =44
2n = B0
L® Solve for n: n=[35]
Lo tn _ |
c .
- 2@ Tour mes a pnumber

200+ n = be decreased by two less than
+uice Hhe number is tuelve.

n=bc-aa Fnd the number,




N = +he numbey -6 X

5] < + |
Hn ~ (2n =) =12 Be sure T ox+ 2
- = To use
Hn -2n+ 2 =12 ¢ 3 | 2(%)-3(x+2) =0
Zn =)0 n the 2x-3Ix -6 =0
= egquahon x =6
¥ = ~b
20 A rectangie is Bewm longer
than I+ 1€ wide. The
fimeter is 4% em. Find
+he area,
Lesson 2.4
s L) n+ S Ll .
n RATIO, PROPORTION,
i i - AND PERCENT
2+ 2(h+3)=42 1@ Find 42 % of 80
2 O =42
" V)-:- ln—-l-l M n _ Y 615
n+ 1o = Y4 whole 8O 100
Hn = 32
n=23 j00Kn = 370
n= (37

Sides: N8 n+s =13

aten: €12 = [lodcmz aFemate method :

L}'% % = .o04625
o4 6LS x 80 = |3.7

4@ Find the middle f three
Consecutive nteoers 1f

+twice the smalfest ‘ \
decreased by tnree hmes 2@ $2142.25 is (043 % of

the largest is O, what 7

| 0O

2142, 25 - 104.5
whole N

o4, 5 n = 214225

1= 2050 Ezoso]

_.|L.};_




2 ® Jack paid $25.92 for
o briefcase on sale for
20 % off. tow much
did he Save <

purchase pr. 25.92_ 8O
original pr. n oo
BOn = 2592

N =3%2.4

oxg. pr. purch. pr. = sav.
$33.40 - $25.92=[306.48

H® A\ earns 3275 per week
m salary plus 8%
commissionns on all Sales.
How much must he sell
during a +hree week
&gﬁ'o 4 Fo ke home &

tol of £ 2208 ?

)= awmount of Sales

LOsn + 3(275) = 2305
0g N+ 22 = 2305

.08n = 1480 ,
- n=1%,500 [$1g,500
I THINK T'LL GO
WRESTLE A
MEAT LOAF

® o

2 n 1 Problems

MULTIPLY & DIVIDE TO
SIMPLIFY EXPRESSIONS

Use +he distributive property
Yo symphify Cackh expressiont

% (x+89) - £ (ox+ay)
=
7
£ (Ha-12b)+ 3 (la+148b)
5 (-24a+36b)+ 3 (L0a-42b)
3 GarIb)r$Ea-3b)

1(Za-3b)-3(ta-1b)

(21x+350)+ 3 @ESx-21a)

CNCRCNCECES

Simp iRy cach expression
(i€ (())os‘grbm%.'

® © ®
.
+
O

25x + 14
5

—3In-%
H




®

POooPpee 0P

2 n 2 Problems

SOLVING EQUATIONS &

WORKING WITH VARIABLES
Solve each equation :
Ux+5 - 7

7
Hn+8 _

|
20 =5 . i
7->;_+@> = 31|
Z-3w = |JOx +Ii0
BIx=-5 = Tx+7
74+ 2n = 214+ 2N
-5x =] = -5x -1

2(n+35)= 23 (n-~1)
H4(20 -1) = 10 (a-5B)
=2 (2%-3) = 6 -4%
Sn+d = 7(n+1) -2n
2(x-5)= & (lox-25)
4 (2n-8) =5 (440 +70)

2n -6 _  3(n+d)
2 2

Solve Cach Cquotion for X ¢

@ x+v=2d
Bx =Y
© dei—x £
@0 x+a _
T—=C
@ ox+b=C @ox-b=cx-3b
@) ex -2y=3z7 @dx+c =2x
2-3 Problems
INTEGER PROBLEMS
For each problem, define

Qa Vartable and mse avy
equation o solve :

Q) Twice o Num bee Jnereased
by four times the pumber
(& mne-\-j—ssx Pnd +he
num ber.

@ Twice a Num bev Increased
b5 twelve is -H'nr%y-one less
+han +nree Himes The
hum ber. Find +ae puwber

_xb_




@ A number decreased b

@

€

five less +han twice z?se\{:
it nine. Find +he number

Five Himes a pumber de-
creased by Four more Than
+uwice the number is 119,
Find +he number

A rectongular playground
is 60m longer +han it is
wide. I+ can be enclesed
by 920m ofF 'Fe\ncing, Find
its length. -

® A soccer fied is 75 yards

shocter than 3 times s
wd+hn, T+s permeter (s

270 yards. Find ks
dimensions,

Rrod bought a used bike
For 3% more than half
s original price. Brad

d $90 for the bike,
what was +the original
Pr’ice Z

The lengths of the sudes
of a triangle are con -
secuhve odd integers. TF
the penmeter is 27 cm,
firnd the longest side.

@ Fnd Four consecuhve even

fnﬂ-egers such Fhnatr twice
+he least mcr'ec\sc’.d b
the greatest is 96,

© Find the largest of four

consecuhve odd in‘i'eQev:s
cuch that the sum of the

st and Fwice +he second

is 175,

Review
Simplify Gach expression :
@ 5 (-bx-3y) =% (g +8x)

(2 28x+35Y
—-21

Sole each equation for x &

@ 20+ &= +b = ax
D Bx-2 _ 2(z2-x)
7

2 u 4 Problems

RATIO, PROPORTION,
AND PERCENT

olve each prob!em:
@ 2% is 20% of what pumber ?
@ 27 is what peccent of 296 ?

® Find $.3% of $6070,

@ Fincl 6% % of $ 9.40,




® $7020.50 is 107z % of what?
® %5400 is 1082 % of what?
@ Find O.1% of $5000

® 90 is 60 % of what number?

@ Janice Scored 85 % on the
oot +est. She answeved
34 queshons Corcectiy.
How many iues-h'ons were
on the +es+?

©® Tn a (80 kg
Sample_'o'l: ove,
Treve was
2,2% me:\‘d\.‘ .
How many kg
of metal were
M Fhe sampe?

@ Henry pard 2145 for a
video that was on lale
Pov 25% off Bow much
did he save on the
purchase of +he video 7

@ Sndra saved $2.72 on
a sweatey that was
marked clown 2%. How
much did she pay tor
the sweatev duving the
sale 7

@ June earns 3125

Pexr week,

n salavy and §°%0 Commission

on all Sales. How, much
dd she sell in order 1o
earn $200 in one week ?

@ Vic earns $320 per week
W salary and 8.5 % com-

m|'55'1on ovi Sales. tow much
dd he sell o earnn $551 n
one week 7

(3 tharlie earns $216 each
week and 6% commission,
bowd Much did he sell Jo
fake home $A75 during
a 3 week perijod last movith ?

® kevim earns $190 per week
plus 1,50l Commissioy, How
much did he sell to take
home F665 durng a 2 week
peciod ?

Row!
Simplify each expression?

- 3
@ 5 (Fa-3b) -5 (3b-1a)

240 -36b
-18

Selve each
equad'ion :

® 2(4n-2) = 3 @-9)+6n

@ 202x-D . Sx+4%
7

a

sowve fov a
@) ab ¢ = 2ac
Solwve !

@ A rectangle has a length
4 inches move than +uJice

....I%.-.




its width and a penmeter
of B5b inches. Determing
+he area..

@ Find the largest of three
consecvhve integers F
+heee Hwmes Fhe smallest
decreased by twice the
middle one 15 oy,

Unit 2

REVIEW
PROBLEMS

Simphfy each expression :
Z (4% -by) -5 (3y-*)

L (Ha-3b)- L (6b +&)

1Ba. —12. b
6

~26m +18n
{2

200 - 15h
~|0

Solve each equa:h'on:

@ -2ax +5
5

@ 2(Hn-1)= 2 Bn+y)+ bn
© B (b-3%x) = 3(x+4)

M & Ba-4) = 2n-|

@ 2 (n+3) = 3-32n

= AR+ 13

® 2x-5 _ @-x)
5} -9

@ 2(\’\*’"‘“ = En+ 7
-3 |2

Sol\ve for x:
B Hox —ab = 3c-cCx
® 29+ dax = Yy +x

For each problem, define

G vortable ancd use awn
equation +o solve:

(D Twice & number decveased
by +Hhvee move than four
+Fmes the numbey is
negative +hirteen. Find the
nuwm bey

A nuomber decreased b
fFive less thaa fwice 'RselF
is seven. Find the number

(9 The length of a rectangle s

fwo less than Fhree Pmes
s widbh, IF the penimeter
is 2% cw what 15 the area @




@ Tn an 1sosceles 'ffriav\gle.) Solve:
the congruent sdes are ‘
Hhree ~move than twice the @ 24 is what percent of 64 ?
bose. Find the wmeasuvre , N
of +he bhase if the penweter Find 25 % of 95,

s 41 inches.
$210.75 | [05% % of what?
I FAILTO SEE

WHAT'S 80 CUTE $149.10 {5 1065 % of what ?

3) = ( ABOUT YARN
)

@ A radio was on sake o 10%
ofF. I‘E Rob paid $20.60 for
the vadio, what was the onig-
wnal price 7

) Morty saved $5.40 on a
Jjoacket that was marked

@) Find +he Second lavgest of dowmn 15%, thow mouch did
four consecuhive }n-\-egers Maety Py for +the chhgi-?
F +he SmallestT incredsed .
by three hwmes +he G) Chistophier is paid $170 per
largest is 7. - week n Salary and 2%

ommission on sales. What

@ Determine +he hfae‘-’-'*‘ of are his sales F he Yakes
hree consecutive mtegecs home $418 during a three
if the largest deareased week peviod!

by one more Than fwice
+he smallest is &,

@ Fnd the middle ot Three
Consecutve odd intregers
F Hwice the largest de-
creased by the middie
one is thirteen.

@ Find +he largest of +hree ‘
consecutive even wtegevs € Magge earns $208 per

£ +hree times the smallest week and T %% commission
decreased by twice the on sales. I she took
fcw‘ges'\' s QC[ua.l +o two. home 2620 duﬁ‘ng a hwo

week pernod last month,
determineg her sales during
+hrot perr'oc\,




SKILL CHECK ey ke e -
Smphi Fy each expression : ® Find 45 % of 120,
D Z(oa-15b)-3(bb+3a) @ $84H0 is Io5E % of what ?
' ® Jan paid $21)2 for o radio

on sole at 2% oFF tow
much did she save ¢

@ Terrﬂ earns $230 Fexr week
plus” &6%E % commisSion on
sales. tow much myst she
sell over a +hree week
peviod Jo take home 3476 ?

@ 2 (n-2) =n
@ 2(5%-3)=7(x-N+3X
® 2 (ZL;\ ~ 4) = L}Vlz: 4 TIc;Mag’r?éNgngoT;EFNKg%ﬁgef

Solve for x
@ 2x-ab = 3¢ ~2ab
® Xy —2n = Ax + 5

Solve ¢

@ The length of a Tectargle
s +heee hmes the wi
and the pecrimeter 15 32
nches. Find the area.

© Find the middle of +hree
consecuhive integers ¥ the
lavrgest clecreased by Hwo




Unit 2

REMEDIATION

Simphfy each expression :
O % (gx-12y) - % (204 +5x)

@ 14n -2Im
....,'.,_}
Solve each
equaﬁon:
& n-7 _ _
— = 2N — G
@ & (3x-4) = x-7
® 4 (a-3)=2 Ra-b)-2a
©® 2(B5n-1) - 23n+!
-8 —2.

Sotve fov n -

200 -4n = 3a+b

® S

NMm + X = XY —2an

Solve

@ The perimeter of a
rectangle is Rom. The

leng+h is one less Fhan -

S Himes +he width.
Eind the dimensions.

©® Find the largest of four

tonsecutive odd Integews

\F three Himes +he laroest
decreased by Two more Fhan
twice the smallest (s eleven.

@ F\‘Y\d (9'}'. o/o O'P 5"‘".
@ $7.75 is 125 % of what?

@ Sam saved $2.99 on a CD
That was on sale for 20%
O'P‘F, H‘Ow MUGh el he paﬂ?

@D BiYl earns 3125 per week
plus 84 % Commission on
all ‘sales, PHow much did he

sell in o four week peciod
F he earns a fta) of $599 2

OPIE, [ DON'T LIKE
HOUR ATTITUPE

—22L -




Unit 2 .

EXTRA PRACTICE

Simplify €nch expresion:
OZ@x-9u)-%exs3y)

o 15a.- 20b
5

—[2% =10y

©) e

Salve each equation:

@ H4n-2
N

®&H (2x-B) :2(*}x+3>
@3 (x)= 282

@ 2 (2n-2)= 2002

| B'n-IZCL}n-\-!):g-S(n&) ‘
@ 4ac3 - Blawd)

7 >

Solve for x ¢
© Go+ax=2ac

Solwe ¢

AD Feur hmes a number
decreased by eight
is negahive Ffusenty -
Find Fhe number.

@2 The length of a fectangle
is fwo less than three
Hmes te width. The
reameter i 20 inches.

Find the dimensions.

® Find e lacgest oF three conseative
0dd ntegacs W the lamgest deor
by twice the smallest is sjxteen
more. Than the middie one.

@ 2 15 what percent of Ho?

@ Find 24 % of 80.

$22.40 15 0% of what?

@ <elena poid FI5.30 For a DVD.
+hat was on sale foc 15 % ofF.
What was +the original grice 2

@@ Paul earns o salary of 4310
- per week plus 6% 2? his sales..
. Determine his sales 't he fakes
home 1122 over a +hree week
period of time .

- Solwe Lor X !
200 +bx = 7-cx

Solve :

@D Find the middle of three
 consecuhve ntegecs i three
mes the Smallest deceased by
+wice the lamgest is fwo more
than twie the smallest.




Solving Inequalities

Change
Lesson 3-1 He 2(n-3) > LI,;_L"VJ denong:'nﬁw
3 D )
SOLVING INEQUALITIES o postive
& GRAPHING SOLUTIONS 22—6 > Yp-4
| | | 2z st
Solve each ineq\mu}l*y’ and 5 (2n-6) = 2 (4n-u)
graph Fhe solotion: 10N-20 > lan —I=
|® 2 (n+5) & Hﬂ"‘"b - —2n 2 1%
2n+10 £ Yn+lb Nn< -9
.—-D_n 4 G g N
nz>-3 -9
é-————_*
-3 ,
| AND T'M REAPY | ( DON'T FORGET

TO CONQUER

YOUR WHITE
THE WORLD! FLAG

¥
20 QX"r%‘"‘ < X~

10% +23% < Sx-40
13X < Ex —40 '

8% £ —440O
X<L-5
ﬁg >
3@ 4x-5 > 2(4x-5B) 5@ 4 (3n-5) < 2(6n-3)
Hx -5 > 8x -0 12n =20 £ {an =6
-Ux > -5 -20 £ =6 Tdentity
% < 5/5\- SR Al Seluhons
V4

%,




A 3\/\'5 > ﬁ.ﬂ.
2. = 6

6 (Rn-5) > 2 (an)
IENn-30 2 |18n

>

—

-30
No Scoluhons

O False Inequality

>
7

<
<

Lesson '3. 2

GRAPHING UNIONS &
INTERSECTIONS

Write each Compound
Sentence without Yand

1@ ~6<n o Nnzo3

—64n £22

",
-

20 x > wd x<%
W < x <94

Graph the selution for
each and denhfyas a

Ualoy or intecsection

ol X< -~

2@ X >5

Union

~H4Ln<2
ITntersechon

N

5@ a.>5 omd a<2
Intersechon

There avre no ponts 25
ond < 2., No Seluthons,

prd
~

AN
7

c® x<2 ovd x & -3
Intecsection

The solotion should be
writhen as X £=3. Thexe
pown¥s satisfy both -
equalities.

A4

IN

~3

7@ X< 2 of %

[Union
These points satisty one
mequality o +he other,

M
2.

Y
ra

_.'2._}_




2@ a>-3 oL a<z
unbnl

A points sahsty one
me quality o +he other

CeE————

Pt each inequatity n
+nal form o?nd g*?nph
+he soluthon:

9@ 2x-23¢45 o 2a-%x<-7

A% <Y —% < ~9
x<d oL x>9

[ x<Hd of x>9]

! q

D® nN-Y4< 2n-4 £ N+

N-4<2n -4 ond 2n-4< M2
n= 6

o<n ow\j-
lo<n£6]

1@ x#2 ond 3x=] > =13
3x > -2
x >—4

[X#2 od x>-4

(—m

iy 2

20 x-5 < x-8 £ X+3
5 4 k-8 ad),.d K~ L K+3
-5<-8 ad -8<3
False) Trve)
Snee this 15 an ivitevsechon,

on‘:_a ponts Hhat satisfy
both ivequalites ave sduhons,

futions =
NDo Soilutio ?:3 5
< > L™

2@ 2n -4 >-4 of N+r5 2%

2n >0
N >0

N >3] This one inequality
describes +he uvhon

& M

Q

of nz23

Write the tampound serterce
ov inequality Fov cach graph!

I} @ £ @e—————— >
-5 >

-5 £ X <3




2@

Lesson 3 -3

PROBLEM SOLVING
WITH INEQUALITIES

Use an inequality to solve:

The car wash fund asser

erns a profit of $1.500n
each mr. How mawvny Cars
must be washed Jo earn ot
Jecast $85 7?7

.50 2 S5
N> S$6.6

A+ leagt B7 cars

N= number of cars washed
Three twmes
an m+e3e~r

decreased by

e gives a vesuld b_a‘hL_Vl

el%h'i‘eew and twenty
at are t+he integers ?

n = +he wteger (<)

-seven.

12 € 3In-5<27
18 <3n-5 omd 3 -5<27

2343n  ad 3n<3:
23 32
= <N a;ﬂﬁ\ n< 3

23 3z
-34104—3-
= =2
75<n<jo3

Possible imieger
Values:

", q 10

3@ The sum of two consecutive
Positive odd integees is at
most 23 awnd at least I,
sihot avre +he m+ege:r$ k4

4
N+ 2

IH4< )+ (n+2) & 23

N £ 2n+2 and

9<2n ogﬁ
9 A
&N o
a 2|

4 51 |7 q
n+2 |74 (4] M

_.2b_




Lesson 3.4

EQUATIONS & INEQUALITIES

WITH ABSOLUTE VALUE
Solve and gvaph:
1@ | x| =4
=4 of X=-H| tnion
S ® ® >
-4

Ahsolute value @

Equation = .Union
Tnequality < Ivtersection
Lrequalihy > Uuwnion

2@ Icg)+_3| <6
9+3< 6 and Y3 >-(
Y<3 aﬁé w>-9.

—q< 4<32

Tniersection

Always pot an ivtersechion

in Compound (nequaj{‘l‘j Torm.

<
-9 3

e |g-axl =24

g-ax >4 of s-2x % ~4
AxZ-% of -2x< -2

X£L2 oL X226

Anion

z G

F@®|n+2|+8 < 4

IN+31 < -4

An absolute Valve cannct
be less than or equal 1o
a negafiwve valve.

No Soluhons

pt
=~

4

6@ |Yy+2]+2 7|
ly +31 > =)

An absolute value 1S always
greater +han a negahve.

AN Seluthions
M

Lesson 3.5

MORE PRACTICE WITH
ABSOLUTE VALUE

This section provides more
practice wr-h absolute
valve equations and in-
equalities,

-2_‘7.-




® ® ® ©

® 990006

3 u 1 Problems

SOLVING INEQUALITIES
& GRAPHING SOLUTIONS |

Solve each v eguality and
groph +he solution:

2n-2 < 2 (n-3)
4 (2x-1) 2 bx-l0
3Ix+5 = 35-2(ax+!)
-1 < 57 ~3(3n-5)
3oo+4 > Sla+x)~7
Hx+9 > 3 (2x+4) +7

£ 2 Qar+5
In-8 2 2 (n-5)+4
24
S -3

> 2 (<+3)

22 _ oz 2 (Ha-)

3
12 - 5—4-“ < 2 (5n-1)

2(%-2) _ 6x
= =

A= 4 2=
-5 O

D -3 >% aN,;C)‘
@ p>% oaxd

3 N 2 Problems

GRAPHING UNIONS &
INTERSECTIONS

write each compoune
Ssentence without “and

x > =7

"
P9

® ystad 9273

@

CEONGNG

-& —1_3_
m<5 a_@,! wm > =

Graph the solvhion and

identify as a unlon ov
intersecHon :

r>2 of Vv£-2

%> -5 ond X <O

THANK &00.
THANK «0U

g




Put each inequality in
Final form and griph !

I+ <=4 of 3+x >4
-1 +b >-4
-5 < 4-3x <13

~2 =X £ 2x <L 3+ X

of —|+b<3

2x =) £ 2%+ L 2% +4Y
N-l<2n+3 £ N+ 4

x # ¢ ond Bx+l > 10

DO O 0

2x+4H £ b of x=Z 2x-4

Write +he compound sentence
of maqua\ifﬂ For each gapht

b Cm——r ——————>
@ < -

® ¢=—- C—
< G mam—

o 2

@ S

\V

COME CON.LET'S GO
HOME FOR LUNCH

NO THANKS.
1 JUST ATE

3 ] 3 Problems

PROBLEM SOLVING
WITH INEQUALITIES

Use an wmequality To sohe:

© The Daily Herald pays 15¢
per papey delivered by
it< Fiest Yyear carvievs,
How mawn ers mous+
be deiiveﬁega&r o covrviey
40 earn atl least $5.30 ?

@ A booksTore makes a profit
of 3430 on each +two - |
volume set of s books,
How many sSets must be
sold for Hhe store o make
a profit of ot least 3175 2

® Duane earns $12,000 pex
Jear plus 6% commission
on sales, How much did
he sell (£ his income was
between $2),000 and $27,0007

@ TF four Hmes an mteger is
increased by three | +he
result is between +hi-teen
and ‘huep‘lg--ﬁ've, wWhat

is the infegec 7

® The sum of two CDnSe::uﬁ\/e
pos iHve oad integees (s ai~
most 18, what ave +he
integees ?

© The som of two consecuhve

posihve even integers Is
ot most 22. What are the
§n+eger.s ?




Review
Solve the inequality :
@ 2-% < 3(3n-1)

2
® 206x-4 ,  Hx-l
3 -2

Pot the mequality in
Einal form and 3mph=

3-2%x <S5 oL Ix—~| >-10
Sn+2 217 ad n#E7

N-4 < 2n+} £« N+10

& © 6

Qa1 >\ of 3 < a~-6

wr}1~e the compound sentence
or mequahty For each gruph:

® dmamy 'c;)—b

L Q— —>
@ —i} O

-2 G

&M———}
© < it

XORCNCECRSRCKCES

® @

| 3 n 4 Problems

EQUATIONS & INEQUALITIES
WITH ABSOLUTE VALUE

Solve and graph :
Ix+4]|=6
ly+11=5
%) +7 =12

Inj-4=3
ly=1l< 4 @ Ine2)+7>5
la~xl& | QD \ux+dl+2a£22
lI2-3x]212 @ lex+6123433

ly+i) >4 @ x| +3 > |
| x-3]+5£2 @ hox+o]-1 >89

Review

Put each inequality in finol
Form | dentify as a uaion
or Intersection, and graph:

Zn+icd o 2n-1 =7

2x-2 £ Ga+ L3+ asf}) X#£0

Use an '|nequa|;+j to solve:
Five Himes an nteger de-
creased by Seven is gt east

Contnued)
_30_




22 and at most 34, Find
+he integer.

The som of two conseck;h'v_e'

add integers js between -5
ond +13, (Whet ave +nhe
ivegers ¢

3 n 5 Problems

MORE PRACTICE WITH
ABSOLUTE VALUE

Solve each equation oY =
equelity and graph the
Solvhown ¢

[9n-21 -1 <9

| x-5|-3 > 2

lzn—1] >

\Z.‘n-l-l’—" =%
4%} -2 =6
13n-2]+4 >2

MO e obd
T
%

Review
Solve and graph :

) -2

write the Compound Sen tence
without Yanad" :

x> -8 avd x <O

Write +he ompound sentence :

-3 1 ,
@M,,%
~Z > 5

Put +he inequality in fival
form and graph

@ 2n = Li3n+b <aint+& a& nF-=)

Use an inequality To Solve:

™ Sherwin earns $18,000

~ per Year plvs 5% com -
mission on all sales. How
much did he sell i his
necome waos bhetween
$21,600 and $ 24,500 ?

@) Three Himes an integer
decreased by four is ot
leost 21 and gt most 37
Find the integer.
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Unit 3

REVIEW
PROBLEMS

Solve each inequadity and

graph Yhe solo¥iony

H(n-3) £ 2(3n-5) -6
3C2ax+1) > H(3+3x)+ 3
Ha+ & 2 2(a-5)-4

21

=+ <3 (n-5)-n

2 (x+4) X+7

3

2
2(n+5) , H-3n
3 = =7

2(3n+s) < 3 (2n-1)
n-3 > 4pn -3(n+i)

Weite each
Com pound

septeniee |
without "and

3 ..L
xXZ ;aﬂé ><<-2_

Pt in final fovm and graph:

2n-1»5 of 4-3n 7 -2
H(x4+1) >-8 ef 9~-5x < ~|

(W
S5
+
L
N
W
3
1
N
I
W
S5
+

N-5 £ 2n+1 € N+
30 +4 <-5 and ~2a >4
Yy > 2x4+4 and ~3(2x-1)£ 3
Zn-1 < 4NtH L 2n+8
2x-2 >4 ol 3x-|< 4

X~ 2 2X< X+ and x#0

®e®o6 06

Zeo) <11 and x#F-2L

write the com—
pund Sentence

and dentify as
a union oy
Intersechon ¢
@) >
-y 2
- M
® +—o—
@ —

Use an inequal ity to solve !

@5 Twice an integer (ncreased
by fouv js between 17 and
27. whatis The integer e

@ Three fimes an inregec
| -2L-




decreased by four is be -
tween —9 and +1. Find
+ne integer,

@D Andrew earns $15,200
plus 6% Commass;on on
sales. What are his sales
F he +okes home between
$16,400 and $ 13, 200 7

Bethy earns 3 11,100 plus
7% CommisSionr) on Sales.
If she takes home be -
tween $12, 780 and $1@130
what weve her sales ?

@) The sum of +hree con-
secuhive Integers Is at
least 17 and ¥ most 26
What are the integers ?

@ The Sum of Fhree consec-
vhve even integers is at
least -1 and at most +20.
What are the mtegevs ?

®

Solve and graplﬁ:
&) Inril+y =7
6D |2x-4]-3 =
@ |2a-2)+4 <3
@Y lan+3)+4 2 2
G la+4]| > 2
G |2n-\| 2 5
Gd Ix—-6l-2 £

|2a+4) +1 < 13

1O

JON! THERE'S
A BIG HAIRY
SPIPER

IN THE
BATHROOM.'

I7T's USJNG
QOUR come!

_33_




Unit 3
SKILL CHECK

Solve and graph:
3(n-1) > H4n-7

n_ 0o 3
21—*—}5—.20@ N-3

@ 20<+) < 2 x4+ 1
3 4

® ©

write as a compomd .
sentence without and

@ 2a<6 ad 34 >-9

Put in Bnal form and
graph the soluotion:

ZA -5 <9+ L 2n+3

4 (x+4) £ Yx+8 £ 2(2x+5)

InF4 L -2 & 2p-523

DO @

write the compound
sentence and ldenh(: as
a wniony or ln‘f‘Ersecf-lon

@4-——_-_? g—b

Use an inequahty to solve:

@ Four himes an even integer
decreased +hree is be -
tween —12 and 7. Find the
Integer,

@0 Lavry earns $%% commission
on sales plvs a salary of
816,000, I he takes home
be+ween 316,960 and
321, 600 whad‘ were his

Sa les ’

Q@ Find two consecvhve oad
integers i thuice The
£ist decreased by +he

.z:e!_corrr:gls ‘;580:* lea.$+ 2 and
Solve and graph:
@ K-3 £ 3x+5 < 2x+8 0/"/‘s XE -l
@ |an-4+| -2 2
@ |3x+2) +4 < 10




Unit 3

'REMEDIATION

Solve and graph:
@D 20 -3) £ B5a-3
@ %-—l > n-y

® 2(2n¥2) § bn-T
2 Tz

Write as a compound
Sentence without "and 't

@ Bn-1 214 and 204> >~

YOU'RE GETTING A LITTLE &
PUDGY THERE, GARFIELD

Potin Final form and
graph the solvtion:

(B 2x—b4 3x+Y L X+ 2

Write the compound
sentence and idenh iy as
& Union ov Intersechion:

<——_H }

Use an inequality to
solve

@ Twice an odd mteger in—

creased by Three is at
least -4 dnd at most 10,
Eind +he mteger.

Ben took home betuween
$lb, 820 and $ 25,460
last year., Tf he eamns
$Il, 500 In Salar3 elvs
12 % commission on Sales,
whatr wevre his Sales ?

Y FBind +hree consecutive
even integers W Fhe sum
of +he middie one and
twice the Jargest is
between =10 and Iz.

Solve and graeh
@ [5n<h-8 ol 2n>n+-6]o;¢l\nf.—-s7

@ 2 (Hn ) < 8n+5 < 4(n+3) @ |5x+3} -l > 7

@ 3o+l <-5 of 2a+6< 3a-2

@ \2n-5]+3 26




Unit 3

EXTRA PRACTICE

Solve. and graph:
@ zMa-6)< -6
O3 X—2)Z 2% 1)+3
A 202 <L T_-’l‘_- -1
D -2Ex+2) Z 2(3)- 1%
® 2n+7 5 3Gn-2)
= - [/}

Wrte as a cmeoond
wrihout ‘\Gx\d” -

@x>-2 "”d ><<n—}

Solve and graph
@ 32LB L x-T>3
'><-¥'L¥./:2x+qgi_ < |5
@ Gn+5<2Bn+< 3@n{lj
@ x> 439 2 2z x+4
WD N-g >3n-1 U N#E-6

Write as a compow nd

ond 1dentity as a umon -

or m+ersechon

| —2 B
e e >
@ -7 i .

Use an meqmldy +o
Sowe @

D Thre -hmes an tni‘qge\‘
decreased by 5 is
tetuween 12 and IS,
Fmd the integer

@@ Tive +imes an ;nhﬂﬂenr decreasat
bg 2 1s grew feethan &
and lessTthan 2B. Find +he.
m+e3c-:~r.

d® Bruce earns # 14,200 plus a
% mmmnsswﬂ on sales,
Detecmine his salkes = he
4+akes home between
$2),200 and $25,200.

~ Solve and graph:

@ Izx-6] =

@ l2x+o)-*+ <6

@ %3 <2xX+5< x+9q U XE-2

use an inequality to solve:

O'-Fmd +wo consecuHve add
mteaens & the som of the
Firset and Toor tiwes the
second is between 30 and

- Bo.

" MY FOOTS
ASLEEP

| om vaves 7




@ &

Q@ e

®

Cumulative Review

) Al l
Problems

QUARTER #1 REVIEW

Tdentify the property:

ITf a+7=2¢ and b=7,
+hen a+b = 2¢

o(m+n) = am +an

Write on algebrac
expression :

The sum of +hree more
+han twice a Number and
Five less +han +he number

Evalvate cach expression:
a=-2
b= ~|
c=+3

20ob*~3bc e
2b%-3Cac-b)

Simplify each expression :
Bxy -3x (2x -Hy) -2x%
Ha (a-2b) -3} (a+2b)+b"
Solwe each equotion:

Bng—"—} = 3n+10

@ 5Gn-2)= 4(n+) +3n -2

Solve the ineguality:

@ n+5 < 1 (3n-1)
3 \ 2.

Solve and graph:
M 2n- £ 3n-4 < n+8
® 2x+3 £7 of 304 >6

oive for n:
@3 3n ~2m = mn +4

Define a voriable, set up
an eguation, and solve:

) Mrs. Benson is four Times
as old as her son Nick.
Six Years ago , Mes. Benson
was three Fimes as old as
Nick wil be fwo uears
fFrom nNew. tow old was
Niek last year 7

3 Twice o numbver
Mcyeased by
2. 1s 3l Jess
+han 3 Hmes
+he number.
Find +he
number.




© Sams backyard is 25 m
longer Than it s wide,
T+ can be enclosed by
|70 m of fencing. What
is the yards aréa ¢

$55.6 is 1045 % of what?

T+ tHres are on Sale ot
20°% off, what 15 the
original price tor a ser
of " Hres on sale Fov $128¢

@

(9 Three +imes an even integer
decreased by two s
between & and 24. Find
+he integer.

Alex earns a vegular
salary of $4HO0 o week
plus 4 % Commission on
sales. T+ he +takes home
$520, what weve his
Sales for the week 2

WHAT’'S THAT ? OH NO, MY PEAR.
EVEN THOUGH YOU ARE JUST
A LASAGNA,T APMIRE YOU
FOR YOOR MIND

Solve and grdpht
¢) |lHn-~6] >0
@ Inl-2 £ -4
@3 |n-5) +3 < 8

"w B W
~ Problems

QUARTER #1 REVIEW

Tdenhty the property:
D 2mn (Tmn) =)

@ If -Tax*=3y, +hen
2y = ~Tax*

write an slgebraic express-
ton for he Following :

(3 The product of Hhcee less
than a number and fwo
more +han +he squarve of
the same numbey.

Evaluate each expression:
x==-l, y=4, ="

&) --><Z-3><3
® 2%y*+82
Hx3y

Simphfy each expression:
® 2% (29-%) - 2x(3x+9)

@ =12 — 20mnN
Em

Selve each eq vation:

® 3(a-H)-Ba=a+3
@ 6~ =9-2n

_3—,_.




Solve the ineguality :
© 4(x-3) 2 & (x-1

Solve and groph :
@ NG < 3n +10 £ N+ 1b
@ a-3 <4 of 2(a-2)<5a-2

Solve Tor x :
® 3(x-3y) = xy +Y*

Define « variable, set vp
an equathon, and Solve:

@ Alice is half Fay’s age.
G Years ago Fay was
2 1¥mes as old as” Arlice
was H years G90. How
much older is Fay than
Alice 2

® Twice the smallest of
+hree consecuhive even
mtegers cle creased b?
+hree Hwmes +he middle
nfegev s negative +wo.
Fnd the midgle integen

© Twe sides of an isosceles
triangle are two inches
less -1-%\an +wiice The
base., T the penmeter
is 26, Find +he base.

@ what is 22‘\5_ % of 1407
8 Sharon saved $10.80 on

a beockcase. If +he bookcase
was on sale fovr \5% o’F"F)
how much did she pay ?

(i)
-y !
‘) . o]
‘ Py W )
SR m‘ﬁr&:
o—

{
ojé

@ Find o negative odd inteser
svch Yhaf 6 more +han
4 Himes the integer is

reater han -7 a‘\nd less
-ghom 9. Fand the integer,

@ Julia earns a salary of
$225 per week pluT a 5%
Commission on sales. Ovev
a three week period, Julia
+ook home $ 818, what
weve her sales ¢

Solve and graph on A
numbev line:

@ lex-61-2 £ 1L
@ |n-1}+4 > 2

G 13n-6]| > 15




" " Selve +he inequality) :
C Problems ® 2(n-3) s 4n-4

QUARTER #1 REVIEW 6 q
Tdentify +he property:

2a + (2n-1)=(2n-1) + 3a

0= C3m?) + (3m*)

Solve awnd graph

@ =1 £ 3x+7 € 2% +8

® O

® 3n-4>N & 2n-y <-2

Wy r
‘l*e a-h O'L\gebra\c PID Y0l KNOW IT TAKES LESS
expression EFFORT TO SMILE THAN T0 FROWN?

@ The difference of an integer

cubed and Three |ess than
Four Hmes the integer

Evaluate each expression :

a = 2

b=-2

¢ ==l ESPECIALLY WHEN QOUVE GOT

ONE GF THESE mAsKS

@ abe - 2bc?
B dbe - 2(ab*-1)

Simphfy eoch expression:
® Halb -20 (34-b) - Sa*
@ 3x (2x-y) - x>~ 3 (F-xy)

Solve for n:

Solve each equation : ®) 5x-3n = x*-2Amn

® 2(n-%) N = 3n Define a varable, set vp an
3 equation, and solve:
)(—

@ 2(3x-4)-2x = '""3'—2" ® The sum of the ages of

-39~




mes. Mec Gapn and her son
Acthue is 57. In b uears,
Mes., Me Cann will be Fwice
as old s hey son. How
oldd 15 Arthur 2

The Hickets were purchased

for $51. 20 after 20°%
was deductred From +he
ociginal price, thw much
Wonedy was Saved ?

(D One more +han Rur himes
a poshve even imteger is
between -7 and 26. Find
the ivieoer.

Nick earns a weekly salary
of $175 plus 7L % com-
mission on Sales. What are
his sales f he takes home
$ 725 pver a twe week

(5) Five Hmes a number

decreased by negathve period 2
two is neg ative +hirteen.
Find +he number,
The garden is four feet Solve and graph on a

longer than it is wide,
ITF i3 Can be enclosed by
o Frfty~two Foot fence,
whatr are the dimensSions
oF +he garden ?

@ Is Is 18% of what ?

number hine
@ x| +3 <« 2
@ |sn-10] +13 =2 25
@ l3nl-6 < 12

WHY REAP ABOUT
IT WHEN “wOu
CAN SCRATCH
T9 TUMMY ?
T ]

|
g z O
<)o

THERE'S AN ARTICLE
HERE ABOUT CATS

au| 'awalpdflkg amresd PRIUN CREL (1

-4 —




Quarterly Exam #1

REMEDIATION & EXTRA PRACTICE

Tdentify the property: Simphi T :

@I‘P le:j = da. and Za= Zj' @ 5% -Z’X(X—L}g)~2x3 +3><2"
+hen Xlgj =z>

lb" h) — 2
Gb)e = a (be) a’b - 20 (atab) - B

‘ '4 b) - 2a(b-3
@ ab+ 3¢ = 2¢ +abh © Halatb) - 2a *)

25 = 3x (y=-2)+ y(x=2)
TIL 49 = 3y, Then = 3

3y = n
Sole each equation:
Evaluate cach &pressim:‘ @ 2x+7 _ % + |
a=-2 b=~} ¢c=2 2
@ 2ab*- ¢cb® | | 3h—*-2—5f"~="— 2(n+1)
abc + 2a%b
@ 3bc - 2b° + ac 3(3”'5)_L}”=5

Zb - ac - b*c* 2 (2x—4)-2(x+3) = x—1|

.. FATTR-FATTY
FAT-FAT-FATSO,




Solve +he nequality: @\ zn-5[-8 <3

®2C4x-3)_ 5 2x* 2 Iln+2 | -6 £ 4
= 3
3 Cm—'-}) £ n-2 Define a \/artableJ Set up
~ < an (:‘qucd—ion} ond solve:
@\Taﬂ is 4 times as old as
Solve Fov x Pavl. Four Yeavs ago , Jay
. was twice +he age +hat
2(_:3 +5x = x4y+3 Paul will be +wo years
k _ _ £rom now. How old was
3><lj + 2 = —2AX '*‘53) Jay last year <2
Albert s B +Times as
Solve and graph: old as Joey. Five years
000, Albert was three
() ¥~ € 23x+2 £ xX+3 +‘?WEJ.S +he age Joey
| witl be next year. How
O2x—b £ 3x+8 £ X+14 -~ old was Joey Fwo years
g6 2

2 2Zn-5>9 of In-5<7 , ,
_ Four hmes an integer in-
N+2 £-5 oL In-3277 creased by B eguals one
IFQSS -Ff;_}hqan the integex.
nd e Integex;
@ |2zn-51=27 ¥ -
Three less +han twice
|13n-231] >12 | an mteger equals seven
| move, Than Four hmes
+he integer. Find it

@ A rectangle has a length
+wo inches moye than
fwice s width. T +he
pevimeter is 22 inches,




determine +the avrea.

A mciw_:m%}efs lergth s
three mches less +han
three +imes s width.
Tetermine the avea
The perimeter is 34 in,

® A clock s on' sole For
5% off. I +he rew
puvchase price s $I15.6%,
how much money s |
saved during +he sale 7

The price of a video is
$9,12 after a 5% ofF
Coopon Is applied fo +he
prchase. Determine
the original piice.,

Six move 4han twice o
negative even mteger
is greater than -9 and
less +than 10. Find +he

Mteger:

One mere Hhan +Hhree
times a positive odd
mteger is greater Hhan
-2 and less +han .

@ Janice eaxns a regular
weekly <olary of %180
plus sjz% Commis3ion o
soles. TH she tukes home
$708 In one week,

how much weve hev szles?

Molly Carns B120 pex week
and” 4% CommisSion on

sales, After Two weeks,

she takes home % 631.20.
What we e hey ales toy

the two week period ¥

Solve and graph :

@ |x-51<3 and x#4

|2x-2127 and x 27




